i ey -

A Sped

ON THE mMoVE J 71 SPQMQ g v\dpcab

| # op T

6‘\) C»(‘g MM “—3 O?’SW

(“20 ﬂ(;,o)

©C - O (geooio’) =

Sealor 00 duaihon, _ Nelocloy vechsr, oy trageis

L

é Ow P ael
o FSh

A8 ms’

QSOOQA“AWMWAW

QO 000 & LS oo |

- (o+20) AK6D ]

=283




Pl

e

ﬁﬁ_f m@c oo af "

- Me/(w;ﬂagn s

19t Moken wtmj o d«mﬁu«é Coaaf afost

o WWngb"u;”m;
-

v

2y JM se L (.@_;v*) L
| E

\rZ =

(m#v)
wt &200
6-0 -
20

3 l) a <

/. %LKJJLM e, wﬁdmm{gﬂ_ Jﬁw} S K

(3o—+ Y 13 |

@

“"gﬁm;

ey
—

AT

R U TOTIVE YRR PP P IO
.__...-—-’--."'

1(5’60
R
(QO*O)




)Mm@m{uw«—»a Lk % Ure o-tsecands

1 ) (: J_——‘ (-4 8\)'" ‘w—a@;\@ e

, i) \r w2as o v s Jou fen)(as)

— S o T U e imn e oo e e J— _{.‘O{_Q’A Jﬁm
k = 6;‘ o424

b

= Bs : 2.5 :;___}__Sm;'-"z_ 1

AK- — e

f? fUF ”%’+““’5 vt A 2rRS ;:[Sw,m”mujffmm;
T e @f?‘”’”‘) B s 15415 3. 950 <{=ﬁ§:;f

e o g, ?S»ﬂ e

+dmidﬁkﬁme_mm ?rs.*,g .

kT = O+ s 04 s dm )

o -\ (C{ ?l)x@ o(

__“_____‘_;-‘_, e St et e 1 et e p et e e et k2 e+ n s e e -

RGN IRt j webaslie) 2 3

Aw- Nv;.s Smmﬂ-ef OJJ ; :{\,u\e.caAra-a\ Sw“fwce C)d‘-@-»a “-> N-My

e V\(}‘ Ol/Me/{.eJm&m N \) MVV‘M
-%MTVZ?-S& O‘l) l = O k L S/ 0\ ?w’i 5 =&
. N‘_ ‘L\ML- 22Ss 5= M{+'/C*& s ﬁ ‘_%— :2 X “l 6""5
Il 4vs0  b)Awzr €225 5260

- S

- lw =0 5;_(\/\4\!‘)& _.;V\PZ/'&-V‘&WH-;__'.:-_-_.



2: 'y i - "1--\/2- - -z, : ‘ _ :
v U 74 2t s ) v (Ad\ O %——ﬂt"gq) EL“.M
: =

S Mobion Crmpls

{
D= 200 - P53 = 126 s
( tof=\) (1 Gngfey

o S

/{&hnur\_

)_-_b L&_W WMM Ké mzo*{—err79& ) ”___ww_w b,

N/ i
ooy ety leg

2 l0.S . tpﬁ_ﬁ%u

S=vk = k= 52 s e 2 TS 3s

- —_ [, DN

h‘(/\-ﬂa_‘
b= ; =4
a3 =

T ——
T'W— Joorelled Ly oy kit s [peom : € = 22 8Os

\ (ool i R

¥

R PP FEN DY 3'” |




Q /\’VP/-F / “(-' :C" R 2_ ( 0133 ) ¥
SO ( tS ~L67F )

OS —L( Wl
.S we o+ ! 0&2. _

| vEuweak = ox ((D l?>§< S) = o, O.6F ms™
===

S* kel 6-?m

ws@j

b)) Q= urab 2 04 r30) \go

(onky gramby achag). -

L’) -[’SOms_m RS U EaEte 5,7

Sz uwul/l = 13’0/(“”)

i) \j_:::_AU\_}_ (JLLAT = O @ ] L‘, 220 ) SRS
- 2¥(26sY
— ‘,C; g;‘:&;\\. e o e s

Fnas”
o .

= éSW.\S

)

-

p ) it = oo 651 |
U’L:':U\l#zﬁ\s = O _‘_2_(0( 31):{@%)\ - Q()‘ Jans™ ):zbgs{m

L g

Q
- ©

%/éock

L 16) 0307

= zm.’m

WSz + alt 204 L = 0:6 K ZO = _8OM




s=So, =2

SV(L

41

o

"™ . 1la oz

_ J(‘*)t-l— -1 8)x(-5e)

= 16 x30% Ce S_?N‘ o

;,,:_._,.3,.._2 Sy

2 2.5 e

r SD

= (u)w 285 e

o fSo ) s 38 6m |

s s < e

zxo (6}
e

R LT

- L [ae)(gs)

:!l

| 1;‘;_;;;% oS

_ OZOM .

) 10200 (henpadd v ickepinddant ) |

T,

R Ly

= W e

~ a2 el

f Ty at .

- i ?..."0
-ﬂ:‘""‘-_.—u

ww% NEN D TR
€35 = M Loa ]




AV LS

)

Uxk = 052 x 0.9 = O¢dm |

=

25 T

o

L 2. )
(M= AT 2a S
LN =

. JO +.2(30)x () —

s, —
s fesnaiy |
e = 2. 3287

& T

-t
n e

e

o ((,"'JIOMW;_ .,




